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Ve (£0) Glaie¥) Al S Al 2 -

Asdia (YA) plaia¥) du S Gladia 22e -

(il gise g8 (latia¥) A S Ciladia dde (e g ALY a5 e oS-

(e la EDE) HLEAY) (g ) -

Ao (1) JLasdU S Al -

D Ay ciladdatl) o 131, ) (6 53

ALY ge anl Wi s ALY dadie o GlatieV) Al S dadie b6l gus 1 cilagletll §
Ala) 8 ead) J8 s 4 S5 (g J) el 18

I JS (o Jah Ban g dady LlaY) qiglhaall g ¢ ladd daa jia Al )

LA e aladiad aae 5 oo gyl 3 Galia )l alall g ¢ AU () Y1 Calall Al aasi
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Base your answers on what you studied in | sLo¥1350L0 -2 Cew)s Lo g gid -2

Biology: P AGY A e e

1- Write the scientific term: e JIud alal| pllaaelt iS) -
Binding antibody to more than one A ByLatl
microbe, this leads to the adhering of
microbes on the same antibody, this
makes them weaker and liable to be

8L as 158 sliaad | gt | doll l diles
udd e Olig )Sad) pamiy g ySen (0
Mﬁ&d’j\.@.&.ﬂ.@hﬁé@lwﬂ

Ifed by ph tes.
engulfed by phagocytes it g o o1
2- Choose only the right answer of the 1ol Los dadd Asvoall il ¥ i - ¥
following:

Ao,alt alwa¥l yels LA LS
The cells that destroy foreign bodies, and | a. i i zeat Lots 31 Jgmiig
change into phagocyte cells when needed

Ny < ARt i ittt IR L LS s
(@) Mast cells. atan (1)
(b) Basophils. et (Q
(©) Eosinophil. W &)
@ Monocytes. 319301 B g @

2 AN s
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3- Choose only one question (A) or (B) and | g () 5i (1) o3t asi st - ¥
then give reason for the following: e

A) The twinning of tendril around the Salet! Sy 35wl L (1)

support in plants. il e yaiwall dasla sl 352 ()

B) Formation of the transverse ks that | o, . ia i s eseatt dogus e
extended from the myosin filaments of | - ) o ’
the muscle fiber.

4- Mention the number of chromosomal | :(eJS 2 dduall Slegammadt sue HS30 ¢

sets in each of the following: A WP (VIR

A) Ookinete in life cycle of plasmodium LyDadf pgasge) s
(malaria parasite). J s A 9oLt et LSt - ¥
B) Secondary oocyte in the ovary. pel!

5- Explain the following statement:

The endometrium enlarges after the
fertilization of ovum.

z‘.?s\..j Ln).m.a-o

L:n.\.é o)) el @t
A gd) las] s yoes

3 At aals
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6- What would happen after:

The disappearance of nucleolus from the
nucleus of eukaryotic cell?

7- Choose only one question (A) or (B) and
then compare between:

A) Perforating protein & Lymphokines.
B) Cytotoxic T-cells (Tc) & Helper T- cells (T,).

s Crdomg 130 =
3191 Ol LM (pe 4o gl s Laisn |

103 () 91 (1) ot i 5t -V
1O (L8
AOLS gaaillly (3598 ptd | Sl g o - |
LoDt g alilat) Al ) Lisst - o
Bae bucadf ASLD

CIA 7 (VG o)l - A=alyol) dulinl) A
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8- Mention the site and the function of the 100 JS Aldigg lSe 4S80 - A
fOllOWlllg: ACTH z’yji
1¥) ACTH. ADH . (ats
2") ADH.
The site st The Function zaasgn
ACTH
¥
ADH
5 W s
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9- Look at the following figure, then answer | oo o3 Glolel G JSEH (uysf -4
the following: L AGY AL
1%) Write the labels nos. (1), (2) & (3).

2") Write what the part no. (4) represents? | -(¢) ey it ad s Lo c3S1:L51

¢ SN

a5 o N

(4)i.- B B

.(\")3 (\')3 (\) DbLedt oS! :/in

10-Choose only one question (A) or (B) and | a3 (&) o) (1) ot 3t s 2500 -
then give reason for: e
3929 el uindl SIS @iy W3 -
dadd sy 3,
ket B gl H9x o plasiul - o

P PRY (I PX S

A) Sexual reproduction may occur
although the presence of one parent.

B) Using of coconut milk in tissue culture
experiments.

6 At L
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11- Choose only the right answer of the
following:

During the second infection with the
same pathogen the memory cells start
dividing quickly to produce large
amounts of the....................

@ Antibodies and the fixed macrophages.
@ Antibodies and the active T-cells.

Active T-cells and the major
histocompatibility complex.

(@ Active T-cells and the mast cells.

12-Write the number represents the
following:

1*%) Pairs of ribs connected to the sternum.
2" Foot and the ankle bones.

7

il 1511 59 g Al | 25 LS

Loo dadd Aoual| Aol Wi il - V)
par

OSISI) (yudh po 2GLY Agalaadt £l

Lo i 35S 1201 LS| @uudld (o poed |

B SI) dcoald | LY g Baliael alus ¥

Al ALY LY g Baliaed plus 1

A lal L:'M‘ﬁ PAZOA [P M (LT Y EN T

1Pl Lea JS (e J1AT1 @B 11 ,SB0 -\ Y
Lol (JaTs U1 g glall zg3) ¥y
oaall
Ol ¥ piBy Cg8 pe sLals

Al &b
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13-What are the results of: 1 ole AG yilatl gALEH oo Le - VY
Nuclei from toad embryonic cells b Aol Hid LSS (ye Augi ¥ 43|
at different stages of development
were removed and transplanted into
unfertilized toad eggs whose nuclei had
been removed.

QL@}A‘;ﬁ Lgiely)g goidd dalidne Jo! 0
SLg g3l ¢ 30 aw galial uasne pui

14-Write the scientific term: Lo ole JII elal) pllaael| COS| -\ €
Chemical substances recruit of large Al
circulating phagocyte cells which are e Liad | Ly M Coiion Al 3150
found in blood to sites of existence of g8 9a 9o ATl B LS youlal Aseald]
microbes in mature female? Oy yScall 395

15-What would happen with: s ie Cdons 13Le -1 0
The increase secretion of testosterone 35S el Aepauind | 5L g0 g1 51521321
hormone from cortex of the adrenal Bipal b Ay IaSH BUadl 5B (ps
glands in mature female? Samsls

8 At L
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16-Choose only one question (A) or (B) and
then compare between the following:
A) Tonsils & Peyer’s patches.

B) The epidermal cells of the plant & the
cell wall (concerning: the definition).

13 () 91 (1) ol Vgt i i =11

1(p0 JS (0 ()18

b pdg O sl -

CTVEN (RPN (PR PRSP EN [ I

LAY (B 2 55 AelieS

CIA 7 (VG o)l - A=alyol) dulinl) A
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17-The following figure represents DNA
replication, then answer the following

question:
1%") The part (B) show......

DNA caelai dutee Sias L3 JSEN -1V
AL A fe e @ duya

ot DNA s -
a) Template strand of DNA. it DNAta s o
b) Replicated DNA strand. sl il - >
¢) Promoter sequence. St plaB B)9u0 B ‘(’:’5“‘ L‘};fi HLals
. . 3(L) 51 (D)
2"Y) Which of _(B or C) formed in the form e S #Lid m3ke i Lol
of small pieces? «C) . (B)
3%) Which enzymes needed to build each
of (B & C)?
3 A
1T 17T T T 17T 17T T 1T
[ T I - .
D B 2
3
C E
/5 [ I I I [ Iy B |

10
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18-What is the role of each of the following:
1) Epididymis and prostate gland in
human male.

2"Y) Finger-like ends in funnel of fallopian
tube and vagina folds in human female.

19-Choose only one question (A) or (B) and
then write its scientific term:

A) A curved bone binds to down ward
and attached posteriorly to the centrum
of vertebra and its transverse process.

B) A continuous rotational movement of
the cytoplasm in one direction in the
plant cell.

10 JS 43 pods (Sl Houl! S - VA
S5 8 Bl gyl 5l g Ol pd | ¥ )
OLua ¥
Cald ped LB Aiao ¥l Wl Lol
Ol N 01 L8 Jugatt Olid

@ (@) 90 (1) o3t sl 500 214
sdle JIu olal llasmel| LGS
ey Jau¥ s Zugie tebae (1)
PLICIYY JEPE [PUMSHETER [

.2 pakuual |
4S5 (2 ) g | Gl ()
2 AOLad I B petne 201593

g ol

11

W s
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20-Choose only one question (A) or (B) and
then give an account on:

A) Interleukins.

B) The cork formation.

12

@3 (@) 91 (1) ottt 3t A § pisnt =¥
143 Jguadell La 43
Ol 9.0 2031 (1)
SOt (52685 (@)

Al &b
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21-Choose only one question (A) or (B) and

then mention the site and the function.
A) The endosperm.
B) Embryonic membranes.

@3 (@) 91 (1) ottt 3t A § pisnt =¥
1 Alads g9 A3ISe LOSH
9331 (1)
St A ¥ ()

The site st

The Function zagsgn

22-Choose only the right answer of the

following:

The second meiotic division in the
secondary oocyte of human female takes
place inthe ........ :

@ Grafian follicle.
@ Endometrium.
@ Fallopian tube.
@ Uterine cavity.

13

Los dadd dovouall Aol ) -YY
b

PO A LS T VR [ R ) LN

oY Al atia Al s 1

W s
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23- Give reason for: 1o b Lot Je - YV
The lymphocytes at the beginning they do | 543 1 Lt 0S¥ duglaestst LM
not have any immune ability. g oS3 Aty B Buclie
24- What would happen if: rdie Grdony f3ke - Y
Growing tip of a plant is treated with the JHas be Sl Aalidlaeddt Andlas
mustard gas? L
14 WeH 5
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25- The figure below show a T. S. in the O el @ T L JSEY ) (ayal - YO
testis of a human male, look at it then P ARG Al
answer the following:

1) What would happen if the structure
no. (1) is absent? What is the
importance of structure no. (2)?

2") What does no. (3) point to? What is
the chromosomal number for no. (4)?

C))

§(1) S 2T L& 131 sty 3L £ 3]
3(Y) 8y caS 0 denl Lag
() oy 4l s (i1 Lo <Ll

$(¢) 03,0 anall suall Loy

Q)

1)

15 A s
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26-Compare between the following:
Alpha cells & Beta cells in islets of

xbﬁ&)@- Y

A, ¥ 5 8 L LSS g Lati Ly S

Langerhans.
Alpha cells Beta calls
Lati LS Lo Lo

27- You have a mRNA carries the following
sequence:

J—e> MRNA s s -vy

xdm‘&m‘

5....AUG — UAU — GUG —AAU — ACC —UAA ...3

The codons of amino acids were:

A PRGNy BN EN (R PP [RAT

(LIS Ba Y
Methionine Tyrosine | Valine | Asparagine | Threenine | Glycine
O gaecn O g 5 o2 O e Ot 9 =S Oyttt
AUG UAU GUG AAU ACC GCG

Answer the following:

1*") Write the anticodons on the tRNA to
the previous sequence.

2"d) Write the sequence of amino acids in a
polypeptide chain translated from this

strand.

16

+ AGY) AN (e Cl

e 935S Slaliia e oS! ¥ i
.Gkt s tRNA

B A ¥ olen ¥l aulis oS! Lol
2 i e e Al
Sle Bag>gall Ologlaclt (il
Gl ) aulid
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28-Choose only one question (A) or (B) and | 2 (&) i (1) ot gudt asi S350 - YA
then write its scientific term: sdle JIAN alall allaiaal ) COS)
A) A flower has (4) floral whorls, leaves | i) ollasme aasyi Let 503 -1
of each whorl alternate with that of the | 3Ll p—s Leis S Glosl Jalogs

next whorl. Ay (S e
B) Single cells are adapted for direct Sl §)gmtin B g LiMS - 0
growth into complete plants. -lals SLS 118 pabes

29-How can DNA hybridization be used to | o—as plisin) SLiSey a8 - Y4
tell whether a particular gene is present | (e 2 ist 859501 aet

in its genome and in what amount? olg—ione J513 (pae (s 3929
SS9 !
17 A s
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30-What would happen when: 1ole A yialt EILE Lo - ¥

Destruction of infected red blood cells | aimari eiyemriauti s s

with merozoits of Plasmodium malaria. Sy DLt p g 9055 Ol 535 ko

31-Choose only the right answer of the Loo dagd dovisuall Aol ¥ 05l - ¥
following: b
The embryo has the ability to response Aol Y1 le 5yl 4 Cpsind | pecay
for stimulation during the ....... month of ol (58 e gt b
pregnancy..

@ 3rd RER{L1] @
@ 4th ] @
@ 6th cowaledt @
@ 8th el @

32-What would happen when: s e Gty 13le - Y'Y
Binding of antibodies to the outer coats of | aate ¥l ssloastl pbowa ¥ dalus
the viruses. § g pucll] o sLI
18 WeH 5
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33-Compare between the following:

The male and female genital system
(concerning: the function)

100 JS G 08 - Y
Slgamdty »Siedl leliitt Hlgontt
S (po) Olud ¥l 3 cagell lulal
(Aduds 51

Male genital system
SO L lga!

Female genital system
)V PR b [ PP |

34-Choose only one question (A) or (B)
and then illustrate by drawing:
A) Germinated pollen grain.

B) Starting with zygospore explain the
stages the scalariform conjugation in
Spirogyra.

19

@3 (@) 91 (1) ot guadt | plin) =¥ €
rdadd GGt JolS oy 7 g
Al et A
Olglad g Hguwsza Il leuiee -0
.b.“qu?"‘,.ﬂgahj‘g‘ﬂéy‘

W s
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35-Look at the following figure then Loe | @ (T LY IS (g paf VO

answer: '
1) What is the type of joint between (1) S() (1) Ot bucndal .55 L 351

and (3)? S GLid e G 13Le sLolS
2"Y) What would happen when absence the 3(Y) pds

structure no. (2)? e (1) by oo 3 feams (a8 L1
3%) How can structure no. (2) be obtained q"’:' ." ‘m"’f “"L"“ -

its food and oxygen needed? e gl S il aeal L sl

o . Ssat 4d)

4™y What is the importance of this structure

in figure?

20 At L
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36-1f you have gene carry the following Ol Los (pa SLd OIS 13 =TS
sequences of DNA contains the following il il sl e AL
sequence:

’3...TAC - TCC — TAC — TCC - ATT...5

Answer the following: ]| e1gal) ald LIS 1Y
1%") Write the sequence of nitrogen bases | ¢s«t! MRNA cg52 e
on transcribed mRNA from the Bl | day 5231 (g0
previous strand. Al Zca ¥ joolen Ylane L83 : Lals
2") Write the number of amino acids MRNA ¢ 2en 53 10
produced from translated part of oot LRNA p1g57 sue o5 0t
mRNA. Siem il Audec B
39) Count the number of tRNA types
used in this translation.

37-Choose only one question (A) or (B) and | 2 (&) i (1) 51 3udt asi S50 - ¥V
then write its scientific term: rdde J1u elalt allaael| COS)

A) Proteins that stop the virus’s Slaug el aolias Bgs Gliig s - |
multiplication as those that cause ety 159-a T gl Sk
influenza and poliomyelitis. Jlab ¥
p9aS I Olicdg it de gaann - 0
DNA 500 Lat,at guaily

B1gidt Jats

B) Proteins play a role in the spatial
organization of DNA within the nucleus.

21 Al Fa1Y)
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38-Choose only one question (A) or (B) and

then mention the importance:

A)The posterior part of the skull (cerebral
part).

B) Pulling roots in corms and bulbs.

@3 () 9l (1) ottt 3t Ay - FA
10993 D9

amemdl (o bl s st -
Jlea ¥ 8 saleitl joi s I - U

GOle eIy

39-Choose only one question (A) or (B) and
then give reasons for:

A)The gametophyte of Polypodium is
haploid.

B) The testes lies outside the body in the
most of Mammalia.

@ () 51 (1) (otadt mi 25t ¥4
Je
Gy 923 diadt Lt
Shihcall de gamall
R el s Gleeastt a9y -0
SOl lane

22
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40-Show how to obtain: e e Jguand| (o i guidg - £ ¢
A number of planaria worms from one bty Lyl Gldas (e
worm? -dad8 5019539

41-Choose only the right answer of the following: | Lee dagd dovivalt sl W1 250 - ¢

The cells that regulate the degree of immune el
response required to limit and discourage | wluwd asj el a1 LS
after elimination the pathogen ......... | ... ISR TR IS TN T
(@ Helper T-cells. saetwanagan s (1)
(b Cytotoxic T-cells. ERIPIROT ()
@ Suppressor T-cells. PONRIPRT I RIPRY @
@ Eosinophil. analond! L] LA @

42-How can scientists obtain a plant strains | ole Jowst o ¢ Lalal) 5565 a8 - ¢ ¥

do not need nitrogenous fertilizers? Butaul (o Lo W A6 LA S M
S g o
23 AN
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43-1f the ribonucleated sequence of mMRNA as | .G oS o890 51 235 oIS 131 - £ ¥
the following: 1SS MRNA day 2 e

5\ .....AUG — CCU — UGA — GCA —AUG — UAA.......3\

1Y) Write the nucleotides sequence resulted | 225l Slabsls 531 golis 81 - X
from the action of reverse transcriptase | pajob sl 1o alolas (e
enzyme on this sequence. Sl !

2") How many amino acids formed during | *=<¥' o2lex¥ glsal sae oS Loy
transcribed from this sequence? L 1b Aoz )3 e 15 gSTked

44-1llustrate by drawing only with complete | 2US a0 dasd @ uytly sy -t ¢

labels the structure of the muscle fiber. Adiaal) Aaladl oS5 Obked!
ol 2
24 AWl pals
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45-Look at the figure below then answer: 1ol Las i @3 LT IS (sl -£0
1*) What does no. (3) represent. S(1) iy £t l e fole ¥ ]
2") How are the antigen-antibody complex oY e (498 LS <Ll
formed? Sl @uantly
39) What is the type of immune response ! Bt Byl .5 Lo LD
which depends on the presence of an- | “basplus¥lases ole waiss
tibodies?

At g

25
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